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class A1
void hello({
println("Hello A1");
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class B1 extends A1{
void hello(Q{
println("Hello B1");
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Bl CA X ARBUAAVY int toInt(Timely a){
10. return(a.min * 60 + a.sec);
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IR 12.class Timely{

i 13. int min, sec;

O FOEFEZE L TE/TE S | 14. Timely(int m, int s){
15. min = m; sec = S;

O EF® 45103 F | 17 String toStr({

void setupOt
size(300, 300);

void draw({
Timely a = new Timely(8, 13);
println(a.toStr() + " =" + tolnt(a));
noLoop();
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18. return(str(min) + ":" +str(sec));
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21 return (min 60 + Sec);
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